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UNIVERSITY OF NORTH BENGAL 

B.Sc. Programme 5th Semester Examination, 2022 

SEC2-P1-PHYSICS 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 
 

 The question paper contains SEC1A and SEC1B. 
The candidates are required to answer any one from two courses.  

Candidates should mention it clearly on the Answer Book. 

 SEC1A 
COMPUTATIONAL PHYSICS 

 GROUP-A 

িবভাগ-ক  

lewg-d 

1. Answer any four questions from the following: 
িনmিলিখত �য-�কান চারিট  pেűর উtর দাওঃ 

3×4 = 12

 dquS pkjoVk iz”ug:dks mÙkj ys[k & 

 (a) A ball is released from a height of 10 m. Construct a flowchart with relevant 
inputs to determine the speed of the ball just before touching the ground. 
একিট বলেক 10 m উcতা �থেক ছাড়া হল। বলিট ɛিম sশ� করার িঠক পূব� মুহূেত�র গিতেবগ িনণ�য় 
করার flowchart �তরী কর। 

 ,mVk cy 10 m dks mpkbckV NksfM+UNA tfeu Nquq vf?k cydks xfr fu/kkZj.k xuZ 
lkUnfHkZd buiqVg:dks lkFk izokg lafp= cukmA 

(b) Write an algorithm to calculate r
n P . 

r
n P -এর মান িনণ�য় করার algorithm িট �লখ। 

 
r

n P  dks eku x.kuk xuZ dyu fof/k ys[kA 

(c) Discuss three rules of defining a correct FORTRAN variable. 
একিট িবǖd FORTRAN চলরািশ সংjায়ীত করবার িনয়ম িতনিট আেলাচনা কর। 

 QksVZjku pj lBhdflr ifjHkkf’kr xusZ rhu fu;eg: NyQy xjA 
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(d) Write a FORTRAN program to input “All Day I Dream About Sports” and print 
its abbreviation. 

“All Day I Dream About Sports” লাইনিট FORTRAN program-এ input করার 
�কৗশলিট �লখ ও print কের �দখাও। 

 “All Day I Dream About Sports” buiqV xuZdks ykfx QksVZjku izksxzke ys[uqgksl~ j 
;ldks laf{kIr uke NkIuqgksl~A 

(e) What is the “Preamble” in LaTeX file? 

LaTeX  ফাইেলর “Preamble” িক ? 

 LaTeX  Qkbyek “Preamble” Hkusdks ds gks \ 

(f) Write down the statements in GNU plot to visualize the surface 22 yxz +=  in 
the ranges 1−=x  to 1+  and 1−=y  to 1+  with proper axes labels. 

িনmিলিখত তলিট �দখবার জন° GNU plot-এর উিkgিল �লখ। 22 yxz +=  �যখােন 1−=x  
�থেক 1+  এবং 1−=y  �থেক 1+  এবং যথাযথ অkিচt দাও। 

 lrg 22 yxz +=  ykbZ 1−=x nsf[k 1+ j 1−=y  nsf[k 1+  lEe mi;qä yscyg:dks 
lkFkek gsuZdks ykfx GNU IyVek LVsVesUV ys[kA 

  

 GROUP-B  
িবভাগ-খ  
lewg-[k 

 Answer any four questions from the following 

িনmিলিখত �য-�কান চারিট  pেűর উtর দাও 
dquS pkjoVk iz”ug:dks mÙkj ys[k 

6×4 = 24

2.  (a) Write down the syntax of nested Do loop in FORTRAN. 

FORTRAN program-এ ‘nested Do loop’-এর syntax িট �লখ। 

2

 QksVZjkuek usLVsM Mqywidks flUVÓkDl ys[kA 

(b) Write a FORTRAN program to find the product of two 3×3 matrices using 
nested Do loop. 

‘Nested Do loop’ ব°বহার কের একিট 3×3 ম°াি¹k-এর gণফল �বর করবার FORTRAN 
�pাgামিট �লখ। 

4

 usLVsM Mqywidks iz;ksx xjh nqbZ 3×3 E;kfVªDldks xq.ku iÙkk yxkmu QksVZjku izksxzke 
ys[kA 
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3.   Write an algorithm and a FORTRAN program to find out the sum of the 
following series — 

িনেm pদt রািশমালািটর �যাগফল িনণ�য় করবার algorithm এবং FORTRAN �pাgামিট �লখ। 

6

 fuEu Ja`[kykdks ;ksxQy iÙkk yxkmudks ykfx ,mVk dyu fof/k j QksVZjku izksxzke 
ys[k & 

33232 1008642 +⋅⋅⋅⋅++++=f  

  

4.  (a) Why LaTeX is heavily used to write scientific documents and research papers? 

�বjািনক নিথ এবং গেবষণাপt �লখার জন° LaTeX �কন বhল ব°বhত ? 

2

 LaTeX fdu oSKkfud dkxtkrg: j vuqlU/kku i=g: ys[u Hkkjh :iek iz;ksx 
xfjUN \ 

(b) Write the LaTeX statements to create the following matrix equation. 

িনmিলিখত ম°াি¹k সমীকরণ �তরী করার জন° LaTeX �sটেমnিট �লখ। 
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 fuEu E;kfVªDl lehdj.k l`tuk xuZ LaTeX LVsVesUVg: ys[k &
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5.   A file ‘Ohms.dat’ contains two columns of data for ‘current’ and ‘voltage’. Write 
a GNU plot code for least square fitting of the data to a straight line using initial 
guesses. Plot the data along with the fitted line with proper axis labels, title of 
plot and key of the graphs. 

একিট ফাইল ‘Ohms.dat’-এ ‘current’ এবং ‘voltage’-এর জন° data-এর dিট sm আেছ। উk 
ডাটােত least square fitting পdিতেত একিট সmাব° সরলেরখা আঁকবার জন° GNU plot-এ 
�pাgাম �লখ। pদt ডাটা ও সmাব° সরলেরখািট একিট �লখিচেtর সাহােয° �দখাও এবং ঐ �লখিচেtর 
অkgিলর যথাযথ নাম দাও, �লখিচtিটর িশেরানাম এবং key �লখ। 

6

 ,mVk Qkby ‘Ohms.dat’ ek *djsUV* j *HkksYVst* dks ykfx MkVkdk nqbZ LrEHkg: Nu~A 
izkjfEHkd vuqekug: iz;ksx xjsj lh/kk js[kkek MkVkdks least square fitting dks fufEr 
GNU IyV dksM ys[uqgksl~A mi;qä v{k yscyg:] IyVdks “kh’kZd j xzkQg:dks 
dqhg: lfgr fQV xfj,dks js[kkdks lkFk MkVk IyV xuZqgksl~A 

  

6.  (a) Write the general form of IF-THEN-ELSE statement. 

‘IF-THEN-ELSE’ statement-িটর সাধারণ আকারিট �লখ। 

2

 IF-THEN-ELSE LVsVesUVdks lkekU; :i ys[kA 
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(b) Using a Subroutine, calculate the sum of the following series up to 10=n . 

 ∑
∞

=

=
0 !n

n
x

n
xe  

Use this subroutine to calculate 
2

sinh
xx eex

−−=  for 1−=x  to 1+  in increments 

of 0.1. 

‘Subroutine’ ব°বহার কের িনেm pদt রািশমালািটর �যাগফল িনণ�য় কর। 

 ∑
∞

=

=
0 !n

n
x

n
xe  ; [ 10=n পয�n] 

4

 
উk subroutine ব°বহার কের 

2
sinh

xx eex
−−=  রািশমালার মান 1−=x  �থেক 1+=x  

এর জন° 0.1 বৃিdেত িনণ�য় কর। 

 Subroutine iz;ksx xjsj] 10=n  lEe fuEu J`a[kykdks ;ksxQy x.kuk xjA 

  ∑
∞

=

=
0 !n

n
x

n
xe  

0.1 dks o`f)ek 1−=x  nsf[k 1+ dks ykfx 
2

sinh
xx eex

−−=  x.kuk xuZ Subroutine 

iz;ksx xjA 

  

7. A cannon shell is fired with an initial speed 0V  and angle θ  relative to horizon. 
Write down a code to plot the data in GNU plot to visualize the trajectory of the 
shell. 

একিট কামােনর �গালােক 0V  pাথিমক �বেগ এবং ɛিমর সােপেk θ  �কােণ �ছাঁড়া হল। ঐ �গালািটর 

গিতপথ GNU plot-এ �দখােনার জন° একিট code �লখ। 

6

 ,d rksidks [kksyykbZ izkjfEHkd xfr 0V j f{kfrtdks lkis{k dks.k θ dks lkFk Qk;j 
xfj,dks NA [kksydks iz{ksi.k guZ GNU plot ek MkVk IyV xuZ dksM ys[kA 

  

8.  (a) Write down the algorithm to compute the sum of all odd numbers in a given 
range. 

একিট িনিদ�Ŷ পিরসেরর িবেজার সংখ°াgেcর �যাগফল িনণ�েয়র algorithm িট �লখ। 

3

 fnb,dks nk;jkek lcS fctksj la[;kg:dks ;ksxQy x.kuk xuZ dyu fof/k ys[kA 

(b) Write an algorithm to compute !x . 

!x  িনণ�েয়র algorithm িট �লখ। 

3

 !x  x.kuk xuZdks fufEr dyu fof/k ys[kA 
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 GROUP-C  

িবভাগ-গ  

lewg-x 

 Answer any two questions from the following 

িনmিলিখত �য-�কান dিট  pেűর উtর দাও 
dquS nqbZoVk iz”ug:dks mÙkj ys[k 

12×2 = 24

9.  (a) Write down specific LaTeX commands to do the following tasks: 

(i) Write text in colour. 

(ii) Write text in italics. 

(iii) Write roman style text within equation environment. 
িনmিলিখত task-gিল করবার িনিদ�Ŷ LaTeX command-gিল �লখ। 
(i)  Write text in colour. 
(ii)  Write text in italics. 
(iii)  Write roman style text within equation environment. 

2×3 = 6

 fuEu dk;Zg: xuZ fo”ks’k LaTeX vkns”kg: ys[k & 

(i) Write text in colour. 

(ii) Write text in italics. 

(iii) Write roman style text within equation environment. 

(b) Write a LaTeX code to generate a table given below. 
িনেmর �টিবলিট �তরী করার LaTeX code িট �লখ। 
ry fnb,dks rkfydk l`tuk xuZ LaTeX dksM ys[kA 
Table 1: Observation Table 

Mass (in gm) Position (in mm) Force (in N)

100 30 0.981 

150 57 1.4715 

200 82 1.962 

250 110 2.4525 

300 137 2.943 

350 164 3.4335 

400 191 3.924 

 Slope 0.43038 
 

6

 Table 1 shows data for Force vs. Position for Hooke’s law experiment. 

�টিবল-1-এর তথ°gিল ‘বল vs. অবsান’ Hooke’s law অনুসাের pাp। 
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10.(a) Write down the algorithm and a flowchart to obtain the mean and the standard 
deviation of marks obtained by the students of a particular class. 
�কান একিট �Ëণীর ছাt-ছাtীেদর pদt মাক�েসর গড় এবং আদশ� িবc°িত (standard deviation) 
িনণ�য় করার জন° algorithm এবং flowchart �লখ। 

6

 ,d fo”ks’k d{kkdk fo|kFkhZg:ys izkIr xjsdk vadg:dks vkSlr j ekud fopyu x.kuk 
xuZ dyu fof/k ys[k j izokg lafp= cukmA 

(b) Following the algorithm / flowchart write down a FORTRAN program. 
উk algorithm / flowchart ব°বহার কের একিট FORTRAN �pাgাম �লখ। 

6

 dyu fof/k@izokg lafp= iNÓkm¡nS QksVZjku izksxzke ys[kA 
  

11.(a) A Fibonacci sequence is defined as follows: 
িনmিলিখত pকাের একিট Fibonacci-kম িববৃত করা হেয়েছ — 
The first term and the second term of the sequence are 0 and 1 respectively. The 
third and subsequent terms in the sequence are found by adding the preceding 
two terms of the sequence. A part of the sequence is 
 0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, ..... 
Write a program to obtain the first 200 terms of this sequence. 
pদt সংখ°াkেমর pথম ও িdতীয় পদ dিট হল যথাkেম 0 এবং 1। tতীয় পদিট ও তার পরবত�ী 
পদgিল এমন ভােব �তরী করা যােত পরবত�ী পদিট িঠক তার পূব�বত�ী dেটা পেদর �যাগফল হয়। 
সংখ°াkেমর একিট ঝলক িনেচ �দওয়া হল — 
 0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, ..... 
ঐ সংখ°াkেমর pথম 200িট পেদর �যাগফল িনণ�য় করবার একিট Program �লখ। 

6

 Fibonacci vuqØe fuEukuqlkj ifjHkkf’kr xfj,dks N % 

vuqØedks ifgyks vad j nkslzks vad Øe”k% 0 j 1 gksA vuqØeek rslzks j R;lifNdk 
vadg: vuqØedks vf/kYyks nqbZ vadg: Fkisj cUnNA vuqØedks ,d Hkkx gks 

0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, ..... 
;l vuqØe ifgyks 200 vadg: izkIr xuZ izksxzke ys[kA 

(b) Write an algorithm to obtain the frequency distribution of marks obtained by 
students from a group of 50 students. 

একিট দেল 50 জন ছাt-ছাtী আেছ। ঐ ছাt-ছাtীেদর pাp নmেরর frequency distribution 
করবার algorithm �লখ। 

6

 50 fo|kFkhZg:dks lewgckV fo|kFkhZg:ys izkIr xjsdk vadg:dks vko`fÙk forj.k izkIr 
xuZ dyu fof/k ys[kA 

  

12.(a) Write the names of any two computer languages other than FORTRAN. Expand 
the term FORTRAN. 

1+1

 FORTRAN ছাড়া আরও �য-�কান dিট computer language-এর নাম �লখ। FORTRAN 
শbিট pসািরত কর। 

 QksjVªku ckgds dquS nqbZ dEI;qVj Hkk’kkdks uke ys[kA FORTRAN “kCn foLrkj xjA 
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(b) Show the flowchart and write a FORTRAN program to determine whether a 
number is odd or even. 

2+3

 একিট সংখ°া �জাড় িকংবা িবেজাড় িনণ�য় করবার জন° �Ņাচাট� এবং FORTRAN program �লখ। 

 izokg lafp= dksj j la[;k lela[;k ok fo’ke la[;k gks fd Hkusj fu/kkZj.k xuZ QksjVªku 
izksxzke ys[kA 

(c) A particle at rest starts moving with acceleration a. The distance travelled by the 
particle at time t is given by the formula 2

2
1 taS = . The velocity is given by 

tav = . Write a FORTRAN program to read a and t and print t, a and v. 

3

 িবËােম অবিsত একিট কণা a tরেনর সােথ চলেত ǖr কের। কণািটর t সমেয় অিতkাn দূরেtর সtূ 
2

2
1 taS = । কণািটর �বগ tav = । ‘a’ এবং ‘t’ read করবার এবং ‘t’, ‘a’ এবং ‘v’ print করবার 

FORTRAN program �লখ। 

 vkjkeek jgsdks d.kdks ,Dlsysjs”ku a l¡x pYu FkkYNA t le;ek d.kys ;k=k xjsdks 
nwjh lw= 2

2
1 taS = }kjk fnb,dks NA osx tav = }kjk fnb,dks NA a j t i<~udks 

ykfx QksjVªku izksxzke ys[k j  t, a j v NkiA 

(d) Mention any two library Functions in FORTRAN. What is the maximum length 
allowed to defining a variable in FORTRAN? 

2

 FORTRAN-এ �য-�কান dিট লাইেbির Function উেlখ কর। FORTRAN-এ একিট variable 
–�ক সংjািয়ত করার জন° সেব�াc �দঘ�° কত ? 

 QksjVªkuek dquS nqbZ iqLrdky; izdk;Zg: mYys[k xjA QksjVªkuek pj ifjHkkf’kr xuZ 
vuqefr fnb,dks vf/kdre yeckbZ ds gks \ 

  

 SEC1B 
ELECTRICAL CIRCUITS AND NETWORK SKILLS 

 GROUP-A  

িবভাগ-ক  

lewg-d 

1. Answer any four questions from the following: 
িনmিলিখত �য-�কান চারিট  pেűর উtর দাওঃ 

3×4 = 12

 dquS pkjoVk iz”ug:dks mÙkj ys[k & 

(a) What are the differences between  relay and circuit breaker? 
িরেল এবং সািক�ট �bকােরর মেধ° পাথ�ক°gিল িক িক ? 

 fjys j lfdZV czsdj chp ds fHkUurkg: Nu~ \ 

(b) What is Q factor in series LCR circuits? What does it signify?  
একিট �Ëণী বত�নীর Q gণক িক ? এিটর তাৎপয� কী ? 

 J`a[kyk LCR lfdZVek Q-¶;kDVj Hkusdks ds gks \ ;lys ds cq>km¡N \ 
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(c) Prove that average power consumption in pure inductor is zero when A.C 
voltage is applied. 
pমাণ কেরা �য একিট িবǖd আেবশেক পিরবত�ী pবাহ pেয়াগ করেল আেবশেকর মেধ° গড় ব°ািয়ত 
kমতা শূন°। 

 ,lh HkksYVst ykxw xnkZ “kq) bUMDVjek vkSlr ikoj [kir “kwU; gqUN Hkusj izekf.kr 
xjA 

(d) What is the utility of earthing of any power system? 
পাওয়ার িসেsম আিথ�ং করার pেয়াজনীয়তা �কাথায় ? 

 dquS ifu ikoj flLVedks vfFkZaxdks mi;ksfxrk ds gks \ 

(e) What will be the speed of a motor having 4 pole energized by supply of 50 Hz 
frequency? 
একিট 50 Hz কmােìর সেñ সংযুk 4 pole িবিশŶ �মাটেরর গিত কত হেব িনণ�য় কর। 

 50 Hz fÝDosUlhdks vkiwfrZek 4 iksy Hk,dks eksVjdks xfr dfr gqUN \ 

(f) What do you mean by admittance? Find out the admittance of a circuit, circuit 
having impedance Ω+ )86( j . 

অ°াডিমেটn বলেত িক �বাঝ ? �কান বত�নীর ইমিপড°াn Ω+ )86( j  হেল অ°াডিমেটn িনণ�য় কর। 

 ,MfeVsUl HkUukys ds cqf>UN \ Ω+ )86( j  izfrck/kk Hk,dks lfdZVdks ,MfeVsUl iÙkk 
yxkmA 

(g) What do you mean by ‘form factor’ of an A.C waveform? 
A.C ওেয়ভফেম�র ‘আkিত gণক’ বলেত িক �বাঝ ? 

 A.C. rjaxdks *Qkje* ¶;kDVj HkUukys ds cqf>UN \ 
  

 GROUP-B  
িবভাগ-খ  
lewg-[k 

 Answer any four questions from the following 
িনmিলিখত �য-�কান চারিট  pেűর উtর দাও 

dquS pkjoVk iz”ug:dks mÙkj ys[k 

6×4 = 24

2.   What is an electrical crimp? What are the benefits of crimping over soldering or 
wire wrapping?  
�বd°িতক িkm িক ? �সাlািরং বা র °ািপংেয়র পিরবেত� িkেmর সুিবধা িক ? 

2+4

 fctqyh fØEi Hkusdks ds gks \ lksYMfj³ ok rkj jÓkfi³ek ekfFk fØfEi³dks ds 
Qkbnkg: Nu~ \ 

  

3.  Write short notes on: 
(i) Surge protector 
(ii) Blue print. 

3+3
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সংিkp টীকা �লখঃ 
(i)  Surge সুরkা 
(ii)  bl িpn। 

 NksVks fVIi.kh ys[k% 
(i) ltZ izksVsDVj 
(ii) Cyw izhUVA 

  
4.  (a) Differentiate between voltmeter and ammeter. 

�ভাlিমটার ও অ°ামিমটােরর মেধ° পাথ�ক°gিল �লখ। 
4

 HkksYVehVj j ,feVj chpdks fHkUurk xjA 

(b) A galvanometer of internal resistance Ω5  has range 2 amps. In order to convert 
it into an ammeter of range 10 amps, how much shunt resistance is required? 
2 অ°ািmয়ার এবং Ω5  অভ°nরীণ �রাধ িবিশŶ একিট গ°ালভােনািমটারেক 10 অ°ািmয়ার-এর 
অ°ামিমটাের পিরবিত�ত করেত সাn �রাধ কত pেয়াজন ? 

2

 vkUrfjd izfrjks/k Ω5 Hk,dks X;kYHkkuksfeVjdks nk;jk 2 amps NA ;lykbZ nk;jk 
10 amps dks ,feVjek :ikUrj.k xuZ] dfr “kUV izfrjks/k vko”;d N \ 

  
5. Explain what is Fermi level? How does a Barrier field appear across a P-N 

junction diode? What is the forbidden energy gap? How does it occur? 
ফািম� �লেভল িক, ব°াখ°া কর। P-N জাংশন ডােয়ােড িকভােব Barrier field গিঠত হয় ? 
Forbidden Energy Gap িক ? িকভােব এিট �তরী হয় ? 

2+2+(1+1)

 QehZ Lrj Hkusdks ds gks O;k[;k xjA P-N taD”ku Mk;ksMek C;kfj;j fQYM dljh 
ns[kkiNZ \ fuf’k) ÅtkZ vUrj ds gks \ ;ks dljh mRiUu gqUN \ 

  
6.  (a) With neat sketches explain the principle of operation of a single phase induction 

motor. 
একিট িসেñল �ফজ আেবশ �মাটেরর কায�pণালী িচtসহ বণ�না কর। 

3

 lQk Ldsp lax ,dy pj.k izsj.kk eksVjdks lkyu dks fl)kUr O;k[;k xjA 

(b) Briefly mention the differences between single phase and three phase motors. 
িসেñল �ফজ ও িতন �ফজ �মাটেরর মেধ° পাথ�ক°gিল সংেkেপ িববৃত কর। 

3

 ,dy pj.k j rhu pj.k eksVjg: chpdks fHkUurkg: laf{kIr :iek mYys[k xjA 
  

7. Using a diagram describe the working principle of A. C generator. 
A. C �জনােরটেরর কায�pণালী িচt ব°বহারসহ বণ�না কর। 

6

 js[kkfp= iz;ksx xjsj A. C. tsusjsVjdks dk;Z fl)kUr o.kZu xjA 
  
8. List and explain the essential qualities of a protective relay. 

একিট �pােটিkভ িরেলর অবশ° pেয়াজনীয় gণgিল বণ�না কর। 
6

 lqj{kkRed fjysdks vko”;d xq.kg:dks lwph j O;k[;k xjA 
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 GROUP-C  
িবভাগ-গ  
lewg-x 

 Answer any two questions from the following 
িনmিলিখত �য-�কান dিট  pেűর উtর দাও 

dquS nqbZoVk iz”ug:dks mÙkj ys[k 

12×2 = 24

9.  (a) Discuss the working principle of an ideal transformer with diagram. What is the 
purpose of using iron core in a transformer? 

িচtসহ একিট আদশ� ¹াnফম�ােরর কায�pণালী ব°াখ°া কর। একিট ¹াnফম�াের �লৗহমjা ব°বহার করার 
কারণ কী ? 

6

 ,d vkn”kZ VªkUlQeZjdks dk;Z fl)kUrykbZ js[kkfp=dks lkFkek NyQy xjA 
VªkUlQeZjek Qykedks dksj iz;ksx xuZqdks mn~ns”; ds gks \ 

(b) An ideal transformer has a turns ratio of 8:1 and the primary current is 3A when 
it is supplied at 240V. Calculate the secondary voltage and current. 

একিট আদশ� ¹াnফম�ােরর Turns ratio 8:1 এবং pাথিমক তিড়ৎpবাহ 3A যখন pদt িবভব pেভদ 
240V. �গৗণ তিড়ৎpবাহ ও িবভব pেভদ িনণ�য় কর। 

3

 ,mVk vkn”kZ VªkUlQeZjdks VuZ vuqikr 8:1 N j 240V ek vkiwfrZ xnkZ izkFkfed djsUV 
3A gqUNA lsdsUMjh HkksYVst j djsUV x.kuk xjA 

(c) Explain the term ‘slip’ in induction motor.
আেবশ �মাটেরর ‘Slip’ বলেত কী �বাঝ ? 

3

 bUMDlu eksVjek *fLyi* “kCndks O;k[;k xjA 
  

10.(a) In the circuit below, calculate the value of the resistance ‘R’ when the current 
through Ω5  resistance is zero. 
pদt বত�নীেত Ω5  �রােধর িভতর িদেয় তিড়ৎpবােহর মান শূন° হেল, অজানা �রাধ ‘R’-এর মান 
িনণ�য় কর। 

5

 rydks lfdZVek] Ω5  izfrjks/kckV djsUV “kwU; gq¡nk izfrjks/k ‘R’ dks eku x.kuk xjA 
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(b) What are the differences between star and delta connection? 
‘sার এবং �ডlা’ সংেযােগর মেধ° পাথ�ক°gিল িববৃত কর। 

4

 LVkj j MsYVk tMku chp ds fHkUurkg: Nu~ \ 

(c) How can a multimeter be used to test a diode? 
মািlিমটােরর সাহােয° একিট ডােয়াডেক িকভােব পরীkা করেব ? 

3

 Mk;ksM ijh{k.k xuZ efYVfeVj dljh iz;ksx xuZ lfdUN \ 

  

11.(a) Calculate the rms and average value for a pure sinusoidal voltage. 
একিট িবǖd সাইনুসয়ডাল  �ভােlজ-এর জন° rms মান ও গড় মান িনণ�য় কর। 

4

 “kq) lkbulkbMy HkksYVstdks ykfx rms j vkSlr eku x.kuk xjA 

(b) A coil has resistance of Ω4 and an inductance of 9.55 mH. Calculate 
(i) Reactance, (ii) The impedance, (iii) The current taken from 240V; 
50 Hz supply. 
একিট kčলীর �রাধ Ω4  এবং আেবশ 9.55 mH িনmিলিখত িবষয়gিল িনণ�য় কর — Reactance, 
impedance এবং তিড়ৎ pবাহমাtা যখন 240V এবং 50 Hz উৎেসর সােথ যুk। 

3

 ,mVk dq.Myh dks izfrjks/k Ω4  j bUMDVUl 9.55 mH NA x.kuk xj (i) izfrfØ;k] 
(ii) izfrck/kk j (iii) 240V j 50 Hz vkiwfrZckV fyb,dks djsUVA 

(c) Draw the Phasor diagram of a series L-R circuit connected across a sinusoidal 
supply. 
একিট সাইনুসয়ডাল সরবরােহর সেñ �Ëণী সমবােয় যুk L-R বত�নীর জন° Phasor িচt অìন কর। 

5

 lkbulkbMy vkiwfrZek tksfM,dks J`a[kyk L-R lfdZVdks Qstj js[kkfp= dksuZqgksl~A 

  

12.(a) Define active power, reactive power and apparent power. 2+2+2

 সিkয় kমতা, pিতিkয়াশীল kমতা ও আপাত kমতা ব°াখ°া কর। 

 Active power, reactive power j apparent power ifjHkkf’kr xjA 

(b) Write short notes on: 
(i) Half wave rectification 
(ii) Real, imaginary and complex power components of AC sources. 

3+3

 সংিkp টীকা �লখঃ 
(i) অধ� তরñ �রকিটিফেকশন 
(ii) এিস উৎেসর বাsব, কাlিনক এবং জিটল শিk উপাদানসমূহ। 

 fuEuek NksVks fVIi.kh ys[k & 

(i) v/kZ rjax lq/kkj 
(ii) ,lh lzksrdks real, imaginary j complex power ?kVdg:A 

 
——×—— 
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